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1.
2.

Instructions for Candidates

Write your Roll No. on the iop'imniediate-ly on receipf of this question paper‘.

The paper is divided in three sections. Questions from each section should be
attempted together.

All questions carry equal marks.

Marks are indicated against each questions.

Answer may be written in Hindi or English.

(@)

(b)

(c)

SECTION-ARAES -

With the help of calculus, explain how average revenue, marginal revenue
and elasticity of demand are related to each other? If average revenue curve
is a rectangular hyperbola, draw the corresponding marginal revenue curve.
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Differentiate between cross-elasticity and income elasticity of demand. (5)
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~What is the law of diminishing marginal return? Discuss the relationship

between Total product, Average Product and Marginal Product curve. (5)
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What does price-elasticity of demand measure? State the point elasticity and
arc elasticity formulas for measuring elasticity of demand. When should each
be used. : (5)
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Prove that in the case of two straight line demand curves, with the same
point of origin on the prices axis, at-any given price, the elasticity is the same
inspite of different slope. : (5)
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The coefficient of elasticity of supply of a commodity X is 2. What quantity

of the commodity will the seller supply at a price of Rs. $ per unit, if he
supplies 80 units of it at Rs. 4 per unit? (5}
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Usc Revealed preference theory to show the demand for a normal good will
vary inversely with its price. ) (5)
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Distinguish between income and substitution effect of fall in the price of a
commodity with the help of indifference curve technique in the case of:

() Normal gorod; and _
(i) Giffen good (2.5+2.5)
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Derive an Engel curve. How does the slope of an Engel curve and demand
curve identify the good as normal or inferior? 5
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OR/3rdt

Why does a consumer attain equilibrium at a point where the slope of budget
line is equal to the slope of indifference curve and indifference curve is
convex to origin? Explain with the help of diagram. ™
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Explain & Draw indit_"fergnce curve in case of : {2.5+2.5)
(i) two economic goods; and

(i)  one economic good and one economic bad.
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Derive the demand curve from the price consumption curve. (5)
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SECTION-B/ES - @

How does a producer choose an optimal input combination to maximize
output subject to a given cost? (5)
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Show increasing, constant, and decreasing returns to scale with the help of

~ an isoquant map. Can a firm have a production function that exhibits initially

(c)

(a)

increasidg returns to scale then constant returns and eventually diminishing
returns to scale? (5)
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Suppose that the price of a commodity Y is Re. 1 per unit and the price of
commodity X is Rs. 2 per unit. Suppose further that an individual’s money
income is Rs. 20 per time period and all is spent on X and Y.

(1) Write the equation on the Budge Line.
(ii) Find the slope of Budget Line
(i)  Draw the Budget Line for the consumer.

(iv)  Show consumer’s equilibrium. What is the slope of indifference curve
at the point of equilibrium? (1+1+1+2)
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OR/r2xar

Explain with the help of indifference curves, effects of lump-sum subsidy vs.
excise subsidy. _ (5)
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(b) What are ridge lines? How can they be used to show the economic region
of a producer? (5)
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(c) Explain the characteristic of convexity of an indifference curve, what shape
will indifference curve take when both of commodities are perfect substitute
and perfect complimentary good. (5)
gt e Ty B '
4. (a) Write short noteson: (2+2+2+2)

(1) Fixed cost vs. Sunk cost
(i)  Accounting cost vs. Economic cost
(iii)  Private cost vs. Social cost

(iv)  Explicit cost vs. Implicit cost
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(b)- Explain equilibrium of a firm under perfect competition in the short run.

What is the shut down point? Why would a firm that incurs losses choose
to produce rather than shut down? : ™)
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Explain learning curve. How is it related to Economies 7 {(7)
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Distinguish between Walrasian and Marshallian stability of equilibrium. Show
that an equilibrium can be stable in a Marshallian sense but not in a Walrasian
sense. (8)
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SECTION-Cr@s -9

Derive diagrammafically- the long-run éupply curve of a perfectly competitive

industry in case of decreasing cost and increasing costs. (7
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Explain and distinguish between short run and long run producer surplus
under perfect competitive firm. - (8)
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OR/3reran

A firm operating under perfect competition maximizes profit in the long run
by producing where price equals long run marginal cost. Explain with the

help of diagram.” _ {7
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Explain the concept of stable and unstable equilibrium as given by Walrasian

(8)
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